= A
N = 0 &8 AFH Y & A AN
2018E T =& 1 3 Yurs|H BHA
A EAA
M. BAAY S (BA/BHIZ)

S BAMH AL (e &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el IR Husz
HAHA 10, 186,628 10,524,103 N 337,475

=2 435,738 435,738 0
Xl 74,000 74,000 0
Jl| 2,144,907 2,786,686 ABAT1,779
[= 769,689 814,309 A 44,620
Al 6,762,294 6,413,370 348,924
HHAIY SHE(EA/2HR) 5,167,786 5,578,302 A410,516
=2 341,868 341,868 0
Xl 74,000 74,000 0
Il 799,210 1,477,489 A678,279
[= 297,282 352,852 AB55,570
Al 3,655,426 3,332,093 323,333
SHHF 2L 1,532,147 1,079, 147 453,000
=2 19,868 19,868 0
(= 1,776 1,776 0
Al 1,510,503 1,057,503 453,000
HHHEN 28 2 D\ 95,542 72,542 23,000
201 LBt 60,636 37,636 23,000
01 AF2 22| H 58,636 35,636 23,000
OBHA HAFRX X2
Z& 300,000,000 * 25/1,000 » 44 30,000 7,000 23,000
SAHI2 e 467,221 57,221 410,000
401 Al HI 2 200 420,000 10,000 410,000
01 Al&H| 420,000 10,000 410,000
OE24 23 L AlE=E HES
AX 2,500,0002 * 83 20,000 10,000 10,000
OBHA 2232 Wl SR (NS IM2
J1) BA 10,000,000 * 14! 10,000 0 10,000
OBAHA MZAIRA THHH X & 22 (
2roto] A XIS) 30,000,000 Al 30,000 0 30,000
OBAHA F=XE EX AL
471,20420 * 7641 360,000 0 360,000
SAHIA & A2A 29 936,978 916,978 20,000
401 Al&HI 2 200 43,000 23,000 20,000
01 A& H| 43,000 23,000 20,000
OABEATEL X2 L HE $4 HE4Z
At 20,000,000 Al 20,000 0 20,000
MAEA 895,208 1,758,724 A 863,516
J| 542,927 1,221,206 AB678,279
[ 101,892 157,462 A55,570
Al 250,389 380,056 A 129,667
()Xt M EH2AX A 499,659 1,347,508 A 847,849
J| 399,727 1,078,006 AB678,279
[ 29,980 80,850 A50,870
Al 69,952 188,652 A 118,700




M 2AL
HH: 2AMY SH(2A/2H27)
el JAEA (&)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
101 @l H] 275,568 1,028,052 AT52,484
Il 220,454 822,443 A601,989
CS 16,535 61,682 AN45, 147
Al 38,579 143,927 A 105,348
02 Bt M E =+ 13,200 0 13,200
OXIOHt MBS oA QIAH|
2,200,000& » 6 13,200 0 13,200
Il 10,560 0 10,560
= 792 0 792
Al 1,848 0 1,848
03 RIAHLZ 22> 163,980 494,988 A331,008
oJles Z & 2,000,000& » 58 * 128 120,000 374,400 A 254,400
Jl 96,000 299,520 203,520
S 7,200 22,464 15,264
Al 16,800 52,416 A35,616
OE &Ity
Z & 2,000,000 * 5F * 60% » 23 12,000 37,440 A 25,440
Jl 9,600 29,953 A 20,353
S 720 2,245 AN 1,525
Al 1,680 5,242 A 3,562
o4ti2s Z & 200,000& » 5% = 128 12,000 37,440 A 25,440
Jl 9,600 29,953 A 20,353
= 720 2,245 N 1,525
Al 1,680 5,242 N 3,562
Oosl 3 & 200,000&  5& « 123 12,000 24,960 212,960
Jl 9,600 19,968 210,368
S 720 1,498 ATT8
Al 1,680 3,494 A1,814
OAlZ222+d ZJ& 13,0008 * 5& = 128 780 2,028 A1,248
Il 624 1,622 A998
= 47 122 AT5
Al 109 284 A175
OS+22=¢ 2 & 60,000& » 5% « 128 3,600 9,360 Ab5,760
Jl 2,880 7,488 24,608
S 216 562 A 346
Al 504 1,310 A 806
OE+¢ 2 & 60,0008 » 5% = 128 3,600 9,360 A5,760
Jl 2,880 7,488 N 4,608
= 216 562 A 346
Al 504 1,310 A 806
04 DIt 22 s+ 98,388 533,064 AN434,676
Ozl 438 2,000,000& = 38 * 12 72,000 403,200 A331,200
Jl 57,600 322,560 A 264,960
< 4,320 24,192 A 19,872
Al 10,080 56,448 AN 46,368
OE & Z Ity
4 & 2,000,000& = 3F * 60% = 23] 7,200 40,320 A 33,120
Jl 5,760 32,256 A 26,496
S 432 2,419 A1,987
Al 1,008 5,645 AN4,637




M 2AL
HH: H2AANY SH(EA/BAAR)
chelr A H (el &™)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
Oo4Ues Z & 200,000& » 3F = 128 7,200 40,320 A 33,120
J| 5,760 32,256 N 26,496
S 432 2,419 A 1,987
Al 1,008 5,645 N4,637
O ol 2 & 200,000&  3H = 12& 7,200 26,880 A 19,680
Jl 5,760 21,504 N15,744
[ 432 1,613 A1,181
Al 1,008 3,763 AN2,755
OAZtZ22+g J&F 13,0008 » 38 » 1238 468 2,184 A1,716
J| 374 1,747 A1,373
£ 28 131 A 103
Al 66 306 A 240
OS+=22=4 Z & 60,0008 » 3F = 128 2,160 10,080 NT,920
Il 1,728 8,064 A6,336
T 130 605 NA4T5
Al 302 1,411 A 1,109
Ox=s=d Z & 60,0008 * 3F » 128 2,160 10,080 AT,920
J| 1,728 8,064 A6,336
£ 130 605 NAT5
Al 302 1,411 A1,109
201 2Bt2 | 91,471 106,936 15,465
Il 73,177 85,547 A12,370
= 5,488 6,417 A 929
Al 12,806 14,972 A2,166
01 AtR 22l | 61,400 62,345 A 945
OXIDHtA dlE 21 S w=H|
Z & 240,000& * 108 = 43| 9,600 12,960 A 3,360
J| 7,680 10,368 AN2,688
S 576 778 A 202
Al 1,344 1,814 AN4T0
OXIHAHE 223 2
Z&E 1,900& » 28 + 1,000% 3,800 1,385 2,415
Jl 3,040 1,108 1,932
S 228 83 145
Al 532 194 338
02 524t 30,071 44,591 A 14,520
OHdIIRsa 16,729 23,420 AN6,691
—Jlzes 3 & 6,160& * 200kw * 123 14,784 20,698 A5,914
J| 11,827 16,559 N4, 732
< 887 1,242 A 355
Al 2,070 2,897 N B27
- MNER3(7-88)
Z& 105.7& * 2,000kw » 2& 423 592 A 169
pJ 338 475 2137
< 25 36 A
Al 60 81 A21
—ANE223(3-68, 9~108)
43 65.28 x 2,000kw = 63 783 1,096 A 313
7l 626 876 A250
= 47 66 A9




A AL
HH: H2AANY SH(EA/BAAR)
cels HagA (ol &9)
SA- - H2A(3A) - MM - BES Ofl &F 4 I ZH Hus2
Al 110 154 N44
- AMEa=(11-28)
8 92.3& * 2,000kw = 43 739 1,034 A 295
Il 590 826 A 236
= 44 62 A18
Al 105 146 A4
Odste=a 2 & 100,000& * 63 600 1,200 A600
) 480 960 A 480
= 36 72 N 36
Al 84 168 N84
Odot==l= d 3 200,000& 63 1,200 2,400 A1,200
Il 960 1,920 A 960
LS 72 144 AT2
Al 168 336 A 168
OFNERE= 38 o0& 0 200 A200
Jl 0 160 A 160
S 0 12 N2
Al 0 28 A28
O2KNEs RERS 1,710 3,420 A1,710
— e Z & 300& = 30008 ~ 6 540 1,080 A 540
Jl 432 864 N432
S 32 65 N33
Al 76 151 AT5
- S 28 1,950% ~ 10004 » 63 1,170 2,340 A1,170
Il 936 1,872 A 936
= 70 140 AT0
Al 164 328 A 164
ORUMTZHAAE KX 2elh
d 3 200,000& * 63 1,200 2,400 A1,200
Il 960 1,920 2960
LS 72 144 AT2
Al 168 336 A 168
OsdIl |FXNE=H 2 & 200,0008 » 63 1,200 2,400 A 1,200
Jl 960 1,920 2960
S 72 144 NT2
Al 168 336 A 168
OURI2EAHl d3d 1,600,000& * 13 1,600 3,000 A 1,400
Il 1,280 2,400 A1,120
= 96 180 N84
Al 224 420 A 196
Odut ey |
dd 197,000& * 13 197 396 A199
Jl 160 315 A 155
LS 13 24 AN
Al 24 57 A33
Osdeds A2 ZF 10,0008 « 204 ~ 63 120 240 A120
2l 96 192 A 96
< 7 14 AT
Al 17 34 A7
206 M =24l 28,620 70,620 242,000




2 BAA
M BAANY S43H(BA/B2HAR)
ohelr HagH (o2 &)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
Jl 22,896 56,496 A 33,600
T 1,717 4,237 AN 2,520
Al 4,007 9,887 25,880
01 M= bl 28,620 70,620 A 42,000
OoXIMg Tz )dH2d ey
338 12,000& *» 308 = 103 3,600 18,000 A 14,400
Il 2,880 14,400 A 11,520
T 216 1,080 864
Al 504 2,520 AN2,016
OX0HMY T2 1#2d8 a2
d& 12,0008 * 259 * 33 * 2304 & 20,700 48,300 A 27,600
Il 16,560 38,640 A 22,080
T 1,242 2,898 A 1,656
Al 2,898 6,762 A 3,864
301 et a3 34,400 64,400 A 30,000
Il 27,520 51,520 A 24,000
T 2,064 3,864 21,800
Al 4,816 9,016 A4,200
09 HAIAHIEA = 20,200 32,400 A 12,200
OXoHOY =03 FAX 2talH|
a8 2,0008 * 259 x 23| * 2304 A 2,300 16, 100 A 13,800
Il 1,840 12,880 A 11,040
T 138 966 A 828
Al 322 2,254 A 1,932
OXIof MEH &=Hl X&
348 20,0003 * 131 * 53] 13,100 10,000 3,100
Il 10,480 8,000 2,480
T 786 600 186
Al 1,834 1,400 434
OXIoh THEYH 2tAlH]
348 2,000& * 250¥ = 33 1,500 3,000 A 1,500
Il 1,200 2,400 A 1,200
T 90 180 A 90
Al 210 420 A210
NI A3 14,200 32,000 A 17,800
OXME Zz0d 2 2AY
343 100,000& * 603 6,000 10,000 A 4,000
Il 4,800 8,000 A3,200
T 360 600 240
Al 840 1,400 560
OXHMY Z208 28 2AY
a8 100,000& * 23] * 23 A 4,600 18,400 A 13,800
Il 3,680 14,720 A 11,040
T 276 1,104 828
Al 644 2,576 A 1,932
307 2I2t0l A 62,400 48,000 14,400
Il 49,920 38,400 11,520
= 3,744 2,880 864
Al 8,736 6,720 2,016
(O I=IE=a= =] 62,400 48,000 14,400




2 BAA
HHM: BAAY SHE(2EA/BHAR)
cels HagA (ol &9)
SAH M -H2A () - MEAY - BES Of] Ak Iy Hns2
OXfe X8
ZH 12,0008 * 45 * 8005 38,400 48,000 A9,600
bl 30,720 38,400 AT,680
[ 2,304 2,880 NA576
Al 5,376 6,720 A1,344
OXIH=IIZBAH X 80,0008 * 300%™ 24,000 0 24,000
7| 19,200 0 19,200
= 1,440 0 1,440
Al 3,360 0 3,360
405 XHAHE SH| 0 22,300 A22,300
7| 0 17,840 A17,840
(= 0 1,338 A 1,338
Al 0 3,122 A3,122
01 THAtY 2 E 5 SH 0 22,300 A 22,300
Otolal &olX 3AF 0¥ 0 1,000 A1,000
7| 0 800 A 800
(= 0 60 AB0
Al 0 140 A 140
O3l g My 23 0 0 7,500 AT7,500
7| 0 6,000 A6,000
(= 0 450 A 450
Al 0 1,050 A 1,050
oslax ®oAX 3F 0¥ 0 1,800 A1,800
7| 0 1,440 A 1,440
(= 0 108 A 108
Al 0 252 N252
OTV(3291 X| LCD) 3F o 0 2,200 A2,200
7| 0 1,760 A 1,760
(= 0 132 132
Al 0 308 A 308
OMHIH 33 o0’ 0 4,400 A4,400
b 0 3,520 A3,520
(= 0 264 A 264
Al 0 616 A616
OCIXI &3t et 3F ox 0 400 A400
7| 0 320 A320
(= 0 24 A24
Al 0 56 A56
OZ2 A JHAANSE 3F o’ 0 5,000 A5,000
Il 0 4,000 A4,000
(= 0 300 A 300
Al 0 700 AT700
(SRS HH2SH X2 0 15,667 A 15,667
< 0 4,700 A4,700
Al 0 10,967 A10,967
201 LBt H| 0 1,867 ~1,867
= 0 560 A 560
Al 0 1,307 A 1,307
01 AL 22l b 0 1,867 A1,867




2N
X ZH -
L= B

el

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OXNNAANEZEAY 58 2y ZJZ 09 0 1,867 A 1,867
< 0 560 A 560
Al 0 1,307 A1,307
301 LptR &3 0 9,000 £9,000
< 0 2,700 ~2,700
Al 0 6,300 £6,300
09 BALAHI 2 A2 0 9,000 29,000
OXIHIIEH 2HALY] 23 0¥ 0 4,000 A 4,000
< 0 1,200 21,200
Al 0 2,800 £2,800
OXIIEH ESH X 23 0 0 5,000 A5,000
< 0 1,500 A1,500
Al 0 3,500 £3,500
307 12+0| & 0 4,800 £ 4,800
< 0 1,440 A 1,440
Al 0 3,360 £3,360
NIEEEEET 0 4,800 £4,800
OXNEQANBES 7 23 0 0 4,800 £ 4,800
< 0 1,440 A1,440
Al 0 3,360 A3,360
(S)XMEEH XA 48,568 48,568 0
< 14,570 14,570 0
Al 33,998 33,998 0
201 B2 | 1,818 658 1,160
= 545 197 348
Al 1,273 461 812
01 At 2H2l | 1,818 658 1,160
OXNAEAMK R
ZH 1,8182 * 1,000 1,818 658 1,160
= 545 197 348
Al 1,273 461 812
301 LetR A3 21,550 22,710 21,160
= 6,465 6,813 348
Al 15,085 15,897 A812
09 BAIAHI 2 A3 15,600 12,000 3,600
OXINEE ZOIX A
ZF 2,000% * 3003 * 263l 15,600 12,000 3,600
= 4,680 3,600 1,080
Al 10,920 8,400 2,520
11 JIEt2 &3 5,950 10,710 £ 4,760
OXHEEH SA+Y
2 70,0008 * 1742 = 53] 5,950 10,710 A 4,760
= 1,785 3,213 A1,428
Al 4,165 7,497 A3,332
WEES(2AL)(2A/2AAR) 41 0 41
SHNE 41 0 41




2N
X ZH -
L= B

el

CEIPS
MEBS(2AL)(2A/2HE)
ERShE

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2
B&XE 41 0 41
802 BHEt= DI Ef 41 0 41
01 =2n2x3eeE= 31 0 31
Ozzzel 31 0 31
— 20168 & 31 0 31
NS ALE 242 A 30,2103 * 14 31 0 31
02 Al - SHIEXZEHEZ 10 0 10
Oz&zel 10 0 10
— 20169 &= 10 0 10
K AA S 242 A 9,060& * 14 10 0 10
ANelAZ SX(BAH/BA98) 3,745,952 3,672,952 73,000
= 93,870 93,870 0
J| 1,345,697 1,309,197 36,500
=) 448,917 437,967 10,950
Al 1,857,468 1,831,918 25,550
H2LSE AE 947,806 874,806 73,000
J| 408,053 371,553 36,500
=) 135,015 124,065 10,950
Al 404,738 379, 188 25,550
(DNAMISAIHR MY A 380,396 307,396 73,000
J| 190,198 153,698 36,500
= 57,059 46,109 10,950
Al 133,139 107,589 25,550
201 et 140,836 126,406 14,430
J| 70,418 63,203 7,215
=) 21,125 18,961 2,164
Al 49,293 44,242 5,051
01 At 22l 125,836 111,406 14,430
O=9AdY 2= M&
Z& 11,5008 * 2,000 = 9& 27,000 21,000 6,000
J| 13,500 10,500 3,000
=) 4,050 3,150 900
Al 9,450 7,350 2,100
OS2 SBAXH(EXNT, AT, 20 5)
Z & 70,000& * 16904 & 11,830 7,000 4,830
J| 5,915 3,500 2,415
< 1,774 1,050 724
Al 4,141 2,450 1,691
Oz=d%u=s JIAM € s 7
2 & 860,600& * 105 8,606 5,006 3,600
J| 4,303 2,503 1,800
< 1,291 751 540
Al 3,012 1,752 1,260
202 (44l 8,190 5,670 2,520
J| 4,095 2,835 1,260
=) 1,229 851 378
Al 2,866 1,984 882




A EAA
I AUAY SA(2A/229Z)
el ALSA ALY (&2l &)
SA-EH A (SA) - MRAE - BES Off &k 24 I EH HusSz
01 =Lodtl 8,190 5,670 2,520
OSHAMHIAANG =& K
3F 90,0008 * 48 = 14& 5,040 2,520 2,520
) 2,520 1,260 1,260
& 756 378 378
Al 1,764 882 882
301 2 a = 51,100 35,100 16,000
p) 25,550 17,550 8,000
CS 7,665 5,265 2,400
Al 17,885 12,285 5,600
09 HAHAHIE &S 10,500 4,500 6,000
O=2dus F0X 2AHl 3,0008 = 2,0008 6,000 0 6,000
) 3,000 0 3,000
LS 900 0 900
Al 2,100 0 2,100
HIEeEda3 40,600 30,600 10,000
O=d4dsX J183 33 50,0008 * 290Y 14,500 4,500 10,000
) 7,250 2,250 5,000
& 2,175 675 1,500
Al 5,075 1,575 3,500
405 Ab&HFH SHI 55,670 15,620 40,050
) 27,835 7,810 20,025
CS 8,351 2,343 6,008
Al 19,484 5,467 14,017
01 THatH =2 S F SH 55,670 15,620 40,050
Ogustets 58I 7Y
33 1,650,000& = 2504 41,250 3,300 37,950
) 20,625 1,650 18,975
= 6,188 495 5,693
Al 14,437 1,155 13,282
o&=+Jl #¢ 400,000& * 1CH 400 0 400
) 200 0 200
CS 60 0 60
Al 140 0 140
O=d4dgd MSa MAH  1,700,0008 14 1,700 0 1,700
) 850 0 850
& 255 0 255
Al 595 0 595
(Z)AZMOIE =EAY 42,000 42,000 0
L= 12,600 12,600 0
Al 29,400 29,400 0
201 €erE gl 7,600 11,100 23,500
CS 2,280 3,330 21,050
Al 5,320 7,770 A2,450
01 At 22l bl 7,600 11,100 A 3,500
O0iZ4a ABSTANY HtHE 2SE2 7Y
38 o0& 0 3,500 A 3,500
= 1,050 A 1,050




2N
X ZH -
L= B

el

B
AglAd SE(2A/22428)
AL S ALY

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
Al 0 2,450 A 2,450

301 gEtE A= 24,140 20,640 3,500
< 7,242 6,192 1,050

Al 16,898 14,448 2,450

11IIEBEAS 10,800 7,300 3,500
HF2EIALA AHIE 4 1,000& * 3,000 3,000 0 3,000

< 900 0 900

Al 2,100 0 2,100

O&HEZ XA 2EHI 500,000& = 14 500 0 500

=) 150 0 150

Al 350 0 350




